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. PART -1
¥ Directions : (Qs. 1 and 2) Study the 2 Qut of the following, which three
- : books are kept above Englsh book 7
following information based on it and To rihis q : e
) answer these questions : other informations, if any, B required 7
. (A) There are two books belwe

i. Seven books are placed one above the

English and Histary
other in a particular way.

(B) The Economics book is be
English and Science books

(C) The Science book placed at the
(D) Mo other information s require

i, History book is placed exactly above the
Civica book.

iii. Geography book is fourth from the bottom

. e fifth f tHe ton. Directions : (Qs. 3 to 6) In each question
= Sic gl pockis RO e below there are some statements followed
iv, There are two books in between Civics | By four conclusions numbared, 1, 11, Il and

IV. You have to take the given statements
to be true even if they seem to be at
variance from commonly known facts.
1. How many books are there batween Read ﬂﬁfthr?ammmﬁhﬂﬂ ﬁ':g:l:ﬂ decida
: which of t VEn Conc logicall
Civics and Science books 770 | o5 frb’mgjihﬂ given atalsmunis.
anawer this question, which other disregarding commonly known facts 7

extra information is required, if any,
from the following ?

and Economics books.

3. Statements : Some books are |

All books are butle
(A} There are two books betweean Allinsects are an
| Mathemalics and Geography Conclusions : | ﬁ:ﬂ"ﬁ snakes arg
books . Some butterflies
are insects.
n
(B) There are two books betwee i i
. Geography and Science books Dirtbartise:
(C) There is one book between English V. E“”‘“ Insecs aig
and Science (A} None
(D) The Civics book is before two (B) Al A
books and above Economics book (C) Oniy IV

(D) Either orlil only
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4. Statements: All apples are brinjals. 6. Statements :Some newspapers

1. All  brinjals  ara rsudins. i
| . ome radios
Bdyfingers lelevisions.
Some ladyfingers are No television is
= oranges. magazine.
Conclusions :|. Some oranges are Conclusions :|. No newspaper is 2
brinjals. magazine.
I All brinjals are l,.No radic is a
apples. ) magazine.
ill. Some apples are . Some r&:!ins are
. 4 gnt magazing.
IV, All ladyfingers are i E;ﬁ;ﬁ;m )
7 o i (A} None
. (A) None (B) Only il
(B) Either | or Ill only (C) Either ! orll only
(C) Al (D) None of these
(D) Only land il Directions : (Qs. 7 1o 11) These questions

are based on the Tollowing information |

5. Statements : All crooks are simple. I. Inafamily of six persons, there are peat

Some simple are

intelligent.

All imelligent are fools.
Conclusions :|. Some fools are

from three generations. Each person B
separate profession and also they i
different colours, There are two coupl
i the family.

. Mohan is a C.A. and his wile naither ie

docto likes !

I Nofoolisacrook. | '"’“"'ha ::‘" ""*"’:’ﬂ .

Hl. ﬁ:;ﬂ? simple are HE‘1M.: : colour

IV, All intelligent are IV. Mahini is mother-in-law of Savitha an

simple. she likes orange colour,
(A} Mone V. Deapak is grand-father of Titu and Th
(B) Either | or Il only who is a principal likes black colour.
VI. Nanu is grand-daughter of Mohini &

(C) Wand IV onky
(D) Either | or |, and Il onky

she likes blue colour, Nanu's mother ke
white colour.
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Directions : (Qs. 12 to 15) In each of thag
problems there are one question and thes
staternants (1), (II) and (I} given below i

guestion. You have to decide whether thi
data given in the statements is sufficient
answer the guestion. Read all th
statements carefully and find out ths
probable pair which can be sufficient b
answer the question. Any one su

alternative which contains that statement g
a pair ol statements sufficient to answer |

7. Which of the following is the correct
pair of two couples 7
{A} Deepak-Mohini and Mohan-Nanu
(B) Mohan-Savitha and Titu-MNanu

{C) Mohini-Deepak and Mohan-
Savitha

(D) Cannoct be determinsd

l =
& 'Whalean Enginger guestion, will be your anawer. For axampies
(A) Mohini (B) Savitha il only statement (1) is sufficient to answe
the question, then statement (1) and (I}
Ve Wy DNosia-af ¥l together should nol be accepted as answat
to the question. Remember, out of the thras
T 9. How many ladies are there in the | siatements, each of them alone can also be
family 7 sufficient to answer the question. In suc
(A) Two cases, for example, your answer should be
takan as only (I) or only (11} or only [IIl) and
(B) Three not only (1).
(C) Four
y (D) Cannot be determined 12: What is the lotal monthly salary of

Jeevan 7

| Jeavan's basic salary is ¥ 1,00

10. Whatisth 1
is the profession of Savitha 7 more than Raman's salary

{A) Doctor also serves in Jeevan's compa
(B} Teacher Il. Other allowances drawn B
(C} Engineer Faman, besides his basic,

1 2,000 per month which is T 50

(D) Gannot be determined less than Jeevan's salary.
. Raman's basic salary is T 8,55
. 11.  Which colour is liked by C.A. 7 per month,
(A) Green (A} 11 only
(B) White (B) 1l and il together
| (C) Red or White {C) landlll together  «
| (D) Red (D} 1, lland lli togather
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(C) Wi~ i A -wlam
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g =i Eme?
(A) TRt
(C) =
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9. uftand feh aftemi § 7
(A @
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(D) Frafiea =t Foran s e 2

10. A EITETFENE 7
(A) ETF
(B) T
(C) TSR
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L) e

(D) S & IS T
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Directions (Qs. 16 o 18} : In thes
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13. Four subjecis Physics, Chemistry,

—

y Mathematics and Biology were taught

in four consecutive periods of one
hour each starting from 8.00 a.m. At
what time was the Chemistry period
scheduled 7

l. Mathematics period ended at
10.00 a.m, which was preceded

by Biology

Il. Physics was scheduled in the
last pariod

lil. Mathematics period was
immediatety followed by Chemistry

{A) 1only

{B) Ilonly

(C} 1land il togather

(D) | and Il together or | and
Il togather

Sagar is younger than Saritha and
Seema is older than Anupama. Who
amonyg them is the oldest 7

. Seema is older than Sagar

Il. Saritha is older than Seema

. Anupama is the'youngest among all
(A) il only

(B) |andlltogether
{C)} |l only
(B) 1, 1l and Il all together

In a certain code “XYZ" means "“We
are friends”. Which letter stands for
"Wa" 7

L “PYN" means “They are

classmates”

Il “ZMS" means "We love them"
N, “PX" means "Hello friends"
(A) Onlyll
(B) Onlylandlil
(C) Al |l and il
(D) None of these

16. Assumption

questions, as assumption is given follows
by three statements. The assumption i
something taken for granted. You have i
find out whether the statement(s) is/a
based on the given assumption or not ang
accordingly choose your answer from thi
choices given below the statements.

1 After weaken
holidays, a person should be fres
and active.

Statements : |. Look, Today is
Monday, Ask
Ravindra o take ug
the new project and
exacute it by
Wednesday
evaning.

Il. Since it 8 Monda
office atmosphere
redaxad. After lu
some work will
begin.

. It'sFr‘::hy A HEMO0n
Can you give itto
on Monday moming
| will finish it by
lunch.

(A} Onlylandll (B) Onlyll
(C) OnlylandIill (D} Onlylil

17. Assumption : Dogs are trainable.
Statements : |. Dogs prater hu
contact,

Il. Most household
dogs are
emationally stable.

lil. Deg shows is an
impariant item |

any ciraus.
{A) Onlyl (B} Cnlyll
(C) Only Il (D) Bothlandl
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w3 wme 7
L “PYN" &1 Wde"d “They are
classmates” ¥ |
I “ZMS" %1 T84 “We love them™ £ 1
. “PX" =1 Heeid “Hello friends” 2 |

13.

14.
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18. Assumption : Mahesh's birthday

was known to his friends.

Statements : |. Mahesh arranges
birthday party only
for his family
mambers.

IIl. On his birthday,
Mahesh received a
bougquet and
greeting card from
his friends through
couner,

. Mahesh received
blessings from his
mothar and beasl
wighes from family
members.

(8) Only Il andl
(D} Oniyll

(A) Only Il
(C) Oniyland Il

4 Directions (Cs. 19 o 21) : These questions
are based on the following seres of signals
(figures, letters and signs) |

AB®@ * §d12{GheZuVnMNQO?EESB

19, Out of tha four alternatives given

below, four are similar on the basis of
their positions in the above series and
thus form a group. Which one does
not belong to that group 7

(A) *1G (B) d@f

(C) 2§B (D) VN?

in the following series, what should
in place of the question mark 7

1nE 2NO fOM 7 hB2

(A) G&Z (B) GES

(C) 3&Z (D} MNone of these

-12-

21,

24,

25,

| 0 A0 0

if the first half part in the above series
is written in reverse order, than which
signal will be the eleventh to the lefi
of the 215 signal counted from left 7
{A) G {B) h
(C) * (D) @

In the following series, how many
such odd numbers are there which
are divisible by 3 or 5, then followed
by odd numbers, and then also
followed by even numbers 7

12, 19, 21, 3,25, 18, 35, 20, 22, 21,
45, 46, 47,48, 8, 50, 52, 54, 55, 56
(A) zero (B} one

(C) two (D) threa

How many pairs of letters are thera in
the word "SEQUENTIAL" which have
as many letiers between them (from

both sides) as are in the aiphabet ?
(A) zero (B) four
{C) one (D) two

Which of the following will come nexi
in the saries below 7

shg, rif, gje, pkd, 7
(A) omc

(C) olb

(B) olc
(D) oxc

If it is possible to make a meaningful
woord with the third, the fourth, the fifth,
the seventh and the tenth letter of the
word PERSONALITY, writa the first
letter of that word.

(A) S
{C) O

& T
(D) A
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(A) *1G
(C) 288

18.

(B) d@i
(D) VN?

F=fafim guen 1, v e F wEm
FHEm AL ?

inE 2NO IOM ? hB2

Ay G&zZ
B) Gfg
€) 382
(D) i 2 g TE
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21. A IwEE swmen § wEet @ am w
Feaaite o o forman sman &, & S S5
and @ fed o 21 9 53a & = s
TEAl B Y
(A) G
(C) *

(B} h
o @

Fafefian gmen d, t8 Fh fm
weEm # = 3@ 53 e Eain B
T A1 gEte § vd o g am
HERAE 7

12, 19, 21, 3,25, 18, 35, 20, 22, 21,
45,46, 47,48,9, 50,52, 54, 55, 56

{A) 7 (B) T
(Cy = (o) A

"SEQUENTIAL" w52 § el % g
T e # R e o (gt et A
Tt B 31E B e e 48 7

(A) ¥ (B) =M
(C) W& (D) #

24. T sEen A SN T e 2

shg, rif, gje, pkd, ?
(A} omc
(C) olb

(B) olc
(D) oke

25, 4, PERSONALITY 7= #at, 9
i, HEE 1 26 ST H U A

152 T BAE §, 11 39 9158 o TR

e ol |
(A) S B) T
{C) O (D) R

- o
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26.

28.

23,

H,

In a certain code language, 'pie vie
nie’ means “Winter is cold”, toi nie rek’
means "Summaer s hol™, ‘rek pie boo’
means "Winter and summer”, and ‘vie
tho pa’ means “Mights are cold”.
Which word in that language
represants ‘summer 7

(A} toi (B} nie

(C) pie (D) rek

In a cerlain code KESHAY is written
as NBVEDS. How is PRAMOD
written in thal code 7

(&) SOJDAR (B} SODRJA
{C) SODJRA (D} SDOJRA

Anthropologists are related mankind
in the same way as ormithologists are
related 1o

(&) Ervironment
(C) Insects

(B) Birds
(D) Minerals

M is the sister of K. K is the brother of
J. N Is the daughter of J. P is the
brother of N. S is the father of M. Who
istheuncleof P 7
(A) M
(Cy N

(B) K
oy J

Which is the one that does not balong
to the formed by the other four 7

{A) Ammeter (B) Centimeter
(C) Kilometer (D} Decimeter

Shridhar i shorler than Nirmala,
Prema is taller than Shridhar. Sundar
is taller than Mirmala but shortar than
Hema. Nirmala is taller than Prema.
Whao will be in the middie if they stand
in a row according to height 7

{A) Shridhar (B) Nirmala

(C} Prema (D) Hema

14

32.

33,

In the alphabet
ABCDEFGHIJKLMNOP, A is
replaced by 2, B is replaced by 1, C is
replaced by 4, D is replaced by 3 Eis
replaced by 6, F is replaced by 5 and
so an, Which number will repiace M 7

(A) 13 (B) 15
(G) 14 {0} 16

How many pairs of Ietlers are there in
the word MISTAKE which have as
many letters between them in the
word as there are in the English
Alphabet (ABCD...XYZ) ?

(A) one (B) two
(C) three (D} more than thr
Inaclass, Sunanda is ranked 7 from

the top. Vijay ranks 15" from the top
and 213 from the botlom in the sama
class. Whal s Sunanda's rank from
tha bottom ?

(&) 28"
(C) 39t

In a certain code, PFOSTER is written
as 597813 and SHAME is writtan as
72641. How is HATES written in that

code 7

(&) 26815 (B) 28417
(C) 26887 (D} 28817
'+ means 'y’ '+ means 'x'
' means =, = maans ‘4, then
(75%25) « 2+ 50-10=7

(A) 1687 |y 12

(C) 8775 (D) 20




o, et v @ e wm o, ‘pie vie nie’
F1 A4 & “Winter is cold”, “toi nie rek'
=1499 & “Summer is hot", ‘rek pie boo'
=1 &9 # “Winter and summer®, 31t
'vie tho pa’ #1279 & "Nights are cold™.
WTHT T T 5T ‘summer’ T W

AR ?
{A) loi (B} nie
(C) pie (D) rek

et v @y F12 § KESHAV F1
NBVEDS foran sty 21 35 FiE o
PRAMOD i 3a femar smom 2

{A) SOJDAR (B} SODRJA
(C) SODJRA (D) SDOJRA

gt geE-ata 2 g &, 346
R g g frad gatm R 7

(A) T (B) T
(C) #2 (D) EF=

27,

28.

20, M KF e B I K JFuE 2 I NJH
AARIPNFIIER I SMFT IR 1 P
FAEIHHAR ?

(&) M B) K
(C) N (D) J

30. FedsRaTE A e aEa i e
() wiE (B) wnite
(C) Freiniian (D) Exfidi

sfr w31 Fidfen @ g & | S e A
wl & | 5ot Fofen & A 2, W e A
BETR | T A e | afE I
ﬂiﬂﬁ:ﬁﬁﬁﬁﬁ%ﬂﬂﬁ*ﬂ}ﬁﬁ
i+ B 7

(B) Fufen
(D} ==

a1,

(A) R
(C) T

32.

33.

JDD-57/HC/ T-IWX-15

quigE ABCDEFGHIJKLMNOP #,
A2 # uieeios Brnmm R, Bt
| wioeets fem v 2, C i 4 &
Wherenie TR, D@ E O i
fem mn 3, Ew 6 A winwaniia e
™ 2, F 1 58 st f mr 2
ST S W T ] W R
B 1 MR Fra w9 vl B
T 7
(A 13
(C) 14

B8) 15
(D) 16

MISTAKE =2 & s1arf & Feaa o2 2
o =g 1 397 91 e 2 fams e
HUHTE (ABCD.. XYZ) 8§ 7

(A) T B)
(C) W (D) A g

U il 0, AN FH 7 EH W |
{3 & 15 9 v W = 3
fdfaa 21 d mAms | faa e ®

EEE?
(A) 2B (B) 27
(C) 3gdi (D} %8 & =0 7

UF TTE FHE §, POSTER #1 557813
e s 2 3 SHAME &1 72641
fermn Fm & | 3 FiE 0 HATES =i

4 e @ 7
(A) 26815 (B} 28417
(C) 26897 (D) 28817 ;

'!Fﬁ'+'ilﬂ~'¥|‘4i'+"a, LUETa xR
W w e =, wm ey R
(75%25) - 2+50-10="7

(A) 16.67 B} 12

(C) 8775 (D) 20

—~——r=—
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Directions (Qs. 37 and 38) . Read the
following information to answer these
guestions,

“P - (" means P is the daughter of Q
“P x " means P is the mother of G
“P + Q" means P is the father of Q

37. Which of the following would
definitely indicate that C is the

daughterof B 7
{A) A-BxC By C-B
(C) B-C 0y B+C

8. S8 =xM+N-=T, then which of the
following is MOT true 7

(A} T iswiteof M
(B) Missonols
2} 5w grandmother of N

(0} Misgrandsonof S

39. Inatelephone directory, which of the
following names would appear in the

middle 7
(A) VISHWAS (B) VANSHIKA
({C] VIPUL (0 VIJAYARAJ

40. Pointing to a man in the photograph,
an woman said, "He is the only son
of my mother's father.® How is the
woman related 1o the man in the

photograph 7
(A) Niece (B) Sister
() Mothar (D) Daughter

Directions (Qs. 41 and 42) ; Read !
following informalion to answer the
questions.

Veena is taller than Anju but shorter tha
Rita. Sushma is taller than Veena a
Meata. Mesta is taller than Veana.

41. Who among them is tha tallest ?
(A) Sushma
(B) Rita
(C) Meeta
(D) Cannot be determined

42, Who among tham is tha shortest 7
(A) Anju
(B} Meela
(C} Veena
{D) Cannot be determined

43. In acertain code language.
a) "pod na joc" means “very brig
boy"
b} “tam nu pod” means “the
comes’
c) "ne parton” means "keep the
d) “joc ton su” means “very good

Which of the following means "bright
in that code language 7

(A} na (B} joc
(C) pod (D} ton

44. How many such 7's are there in the
following number sequence which

ara not immediately preceded by 4 but
immediataly tollowed by 2 7

34T728729471357298772
14723

(A) One {B) Two
{C) Three (D) Four




(AR T 0 0
i (o 37 ST 38) A IE I IM A F
o Pafafia s vd |
P-rEEdEPOQ#F R
'PrxQHEIHEEPQFIN B
PrOwadPQF R

37,

40

e 4 4 F vs AR = 8

fmFmemoefiafnss
(A) A-BxC B} C-B
(C) B-C (D) B+C

RS xM+ N-TR dt = d & =m
AATRIE?

(A) TMH o
B) MSHFI TR
(C) SNEIHR
(D) NS E

etini- FEfimn |, Fer g @ Fwmam
weg 1 gm ?
(A) VISHWAS
(C) VIPUL

(B) VANSHIKA
(D) VIJAYARAJ

FEATCH e v} =1 #1790 =
w Aigen A %, | aE wh ol F
wwet a2 21 o &9 aediEs
AT | HEiE B
(A) wisft

(C) =

(B) =
(D) =

JDD-57/HC/ T-WWX-15

o (w99 41 i 42) W S T A R
= e e |

affor w5 & el & v e 8 B | o
B ahot il bt e

41.

42.

A e R 7

(A)

(B) 01

(C) i

(D) Frifee et R e @

FAY g B FA R

(A) 37

(B) i

(C) =m

(D) i od o B

e T I S i

a) “podnajoc” %1 34 very bright boy”
b) “lamnu pod" %1314 "the boy comes”
¢] “re perton” @1 374 "keep the doll"
d) “joc ton su™ 1 314 “very good doll”

e e, i it @ P sk right
27

(A} na
(C) pod

(B} joc
(D) ton

e it 7 et 7 Pk qpin
et 4 7 2 T gah gra s 28 7

3472872947135725897725
14723

(A) U=
(Cy

(B) = :
(D) =K
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Directions (Os. 45 and 46) ; "Sudhir starts
for office svery morming at 8.15 a.m. and
reaches there at 8.55 a.m. On Wednesday
he started five minutes later than the time he
started on Friday. Three days out of five days
in the week, he staried late out of which
Friday was one of the days”.

On the basis of the above information,
answer these guashons.

45,  Onhow many days he started in time 7
(A} One
(B} Two
(C) Three
(B} Four

48. At what time did he start on
Wednasday 7

(A) 9.20am.
(B) 9.25am
(C) 9.15am.
\D) Datainadequate

47. What should come in place of the
guastion mark (?) in the following
letter group 7

144}
J G
G ?
(A) D
(B) E
(C) C

D0y J

49,

20.

In the series given below, indicate
whal the next logical number should
be2,6,11,17,24,32,

(A) 40
(B) 41
(C) 42
(D) 39

Which would be the middie digit of the
number comes in the middie aftet
revarsing the digits ol each ol the
follewing 3 digit numbers and
arranging them in the ascending
order 7

503 948 692 B37 461
iA) O
(B) 3
(C) 4
(D) &

What number should come at the
place of question mark () 7




FEw (w45 330 46) : gl = gEE TR &
v 9,15 w frFam © o =91 9.55 T TR
AR | HUAT L TR YA R I H AT
T @ iy fiee 9w P a1 | emE e A
1 7 o 2 2w 3 o 20 2 e s yam
T & e |

I AT & AT O T & I e |

45 e amwom s iEn? 7

47.

(A) TH
(B) =
(C) @H
(D) =W

¢ qan o e st Frenan 7

(A) FWE9.20 W
(B) HaE 9.25°W
(C) §IE 9.157

(D) 221 T

frfefian aoimge 4 o o (7) &
T W T an gie

49.
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A= @ 7% g@Een 2, 6, 11, 17, 24, 32,
= ¥ et mfehe e = e
l

(A) 40
(B) 41
(€) 42
D) 39
Tt 3 aih T % U 3 & T
= A AT T SWE FH 0 FEE

0 5 A e 1 T e e Al
0 #m ¢

503 948 692 837 461
(A} ©
(B) 3
(C) 4
D) 6

Frrferiian @@ 1 woe o= (0% =@
1 A e ¢

an B ha Lo
P L TN M
=i Pod L= O

kool g
=g P P i

(B) 22
(C) 24

(D) 25
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St

52,

=

a3.

PART -l

What should come in place of both
the question marks (7] in the following
equation ?

Jizga 7
(A) 12 (B) 144
{C) 14 (D) 196

Sunil left for city "X’ from city 'Y' at
5.30 a.m. Ha travelled at BO kmv/h for
2 hours 15 minutes. After that the
speed was reduced to 60 kmvh, If the
distance between the two cities is
350 km, at whal time did Sunil reach
the city ‘X' 7
(A} 10.05am.
({C) 9.50am.

(B) 10.35am
(D) 10.55am.

Two trains A and B, each of length 200
metras running in opposite directions
cross each other in 16 seconds. What
is the speed of frain A ?

(A) 80 km/h
(B) 40km/'h
(C) 80 km'h
(0} Data inadeguate

What should come in place of the
guestion mark (7) in the following

eguation 7
A7 +14x3+9 =21
(A) 7
(C) B4

(B} 49
(D) 196

55. How many different letier
amangements can be made from the
latters of the word EXTRA in such a
way that the vowels are always
togethar 7
(A 12
(C) 24

(B) 120
(D) 48

Rakesh invested an amount of 8,000
in a fixed deposit scheme for 2 yea
al compound interast @ 5 p.cp.a
How much amount will he get o
maturity 7

(A) ¥8620

(B) 28,840

(C) %8800

(D) None of these

56.

57, A and B started a partnershi

business investing the same a

in the ratio 3 : 5. C joined them aiie
& months with an amoun! equal 1o

of B, Then, the prafit at the end of
year should be distributed in w
proportion among A, Band G 7

(A) 6:10:5
(B) 3:5:56
(C) 3:5:2
(D) Data inadequate

58. Ma=3.b=2 (a-b)a®+ab+b%=
(A) 10 (B) 15

(C) 19 (D) 12

,‘:E' 2

L |

59. =7

lfx =98.5,y=15,

(A) &7
(B) 100 .
(C) 2.25
(D) Cannot be determined
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CIUE ||
51. T wirmm & 2@ v & (7) & §5. EXTRA %3 & 31eri & fraet wam ) A
T T T AT AR ¢ Tft et =rEen ) W aE # faa
- kil J162 T U S T
Jizs8 2 (A) 12 (B) 120
(A) 12 (B) 144 (C) 24 (D) 48
(C M ) e 56. THY 3 @ 5 frem g ¥ e
Prpcrn | e 2R 15 Rere a0 sl 2 e | 30 ey o el O R 7
T U T ] A | SEE A I il U e
| R (C) 8.800%™ (D) 39H 4 =18 7l
0 ferft /e = gt B 1 e 2 v .
% dw S gl aso AR, Agdw ¢ | 57, ANBAS: 5% wwE § suE Uit
; e w3 wrdrht d srem s e
g 1o ¢ W1 | C A 6 0FH @12 B % W e =
(A) HER10.055 (B) W®10.359 frim w0 38 =9 fen T, A, B
C) wARA50% (D 10.55 7% Sl C o =i form argma o = & i
e # o wny = fasror R s ¢
. 200 Wiz FE Al a A A 3 B, Bl (A) 6:10:5 (B) 3:5:5
Fastrafl i sl B 2 16 e 8 v gt (C) 3:5:2 (D) 21
=1 mf 7
ﬂmaﬂh_ﬁn s & 8. TRa=3.b=2% 7
(A} 90T /= (a—b)(a®+ab+ b2 =7
(B) 40T g2 (A) 10 (B) 15
(C) sofEd = (C) 18 (D) 12
(D) e i 2 Bt
50, Aex =985 y=1587d —— =7
. Frm i & o FaEl (7) F e W X -y
AT =R 7 W &
_ 4 (B) 100
847 =143 4+9=21 o sl ‘
(A) 7 (8) 49 (D) Tt et fopem = ek &
(C) 64 (D) 198
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0. Which is the greatest among,
100, Y12 and 3 7
(A) V3
(B) %100
€) 2

(D) Cannot be determined
81, 5cos p=4;8ng="7
(A) {B)

(Ch

| & ;b
(n|ta 4 )on

(D)

62. LCM.of (x®—y=)and (2x+ 2y) is
{A) (x+Y) (B) (x—y)
(C) (2x—2y) (D) 2(x2=y?)
B3. Tha inequality 2x% + 9x + 4 <0 is
satistied for which of the fallowing
values of "x" ¥

1 1
(A) —~4<x<=3 (B) p<x<4
{C}) 1T<n=e2 D) 2<x<1

64. P can complete a work in 12 days
working 8 hours a day, U can
completa the same work in 8 days
working 10 hours a day. If P and Q
work together working 8 hours a day,
in how many days can they complele

the work 7
B 5
() Eﬁ (B) ﬁﬁ
6 5
(© 553 @) 533

In a pair of fractions, frachion “A”
twice the fraction “B" and the prod

value of fraction “A" ?

(A)

(B)

(C)

{0 Dala inadequate

A box contains 4 black balls, 3
balls and 5 green balls. 2 balls ar
drawn from the box at random.

is the probability thal both the

are of the same colour ? y
47 ) 1

(A) -y (B} =

Al L ——

The length of a rectangle is 20%

than its breadth, What will be the
of the area of this rectangle to the

ol a square whose side is equal to

breadth of the rectangla 7
(A) 5:8 B) 3:4
(C) 2:5 D) 6:5

In a two digit number, the digit in
unit's place is four times the digit
the ten's place and sum of the d
is equal to 10. Whalt is the number
(A) 14 (B} 41

(C) 82 () 28

=




800. §700. 3z sm JadamEme?

61.

(A) 3

(B) %100

(Cy 312

(D) Fratfea = e = war g 2

a5 cos n=48, Asin@ =7

4 .
(A 5 B 3
4 3
© 3 D) %
(x2—y2) 3 (2% + 2y) F TR HEE £
(A) (x+Y) (B) (x—y)
(C) (2x-2y) D) 2(x*—y)

AN D 1 O+ 4 <O EH W
form o Ffero dae At 2 2
(A) Jb i e (B) Lak 4

2 2
(C) 1<x<2 (0) -2ex<1

p g g2 wfif wm ek 12 At g v
T I T S| Q I F=
1092 wife #m g Al H R
w1 # 14 p i Q oo g v
FoE, A R AT R
aFa d 7

(=] -]
() 83 (8 6
(=] ]
© 52 (D) 57

65.

67.
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e e, A feeta

A1 3 3] EEA % 21
AR TEn R

T wiaE H =S 1, 3 0 e N
5L I TEE | 2 TR 1 aefas =
oA e R | 5 e o

e & o A e i A 7
47 1

M o5 ® &

© & o) =

UF ST ) 9G350 98 o 20
ufea wifis B wma & sEwa s
TG i STEE & e v AT =

ST T T S

(M) 5:6 (B) 3:4

(C) 2:5 (D) 6:5

TH ] FEI =) Wi 8, T T W 5
RS U8 T AW I 3] o aa ¥ s
1 AT 10 % T B | T i
arft ¢ :
(A) 14 (B) 41

(C) 82 (D) 28
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69

1.

4

B
Find the HCF of FRETE

]
N 15 (®)

1) (D)

g
5
2
15
2 4
o 15
The market value ot a ¥ 100 share 15
¥ 89.5. Brokerage is 0.5%. Rate of
dividend is 15%. If a parson invests
? 35,000 in this share, how much
dividend he gets in that year 7

(A) T 60 (B) % 800
(C) T 5,000 (D) % 6,000

What is the differance batween
compound interest and simple interest
for 2 years at 10% for ¥ 5,000 7

(A) T 10 B) T 20
(C) T 50 (D} Z 100

What sum of money will amount to
¥ 9,261 in 3 years at 5% per annum
compound interest ?

(A) T 8,000
(C) T 8,200

(B) T 8500
(D) T 7.500

Without using trigonometric tables
avaluate the following.

seg 17 ;'ranﬁ-ﬂ“wmgﬂl_mﬁzda
cosec 73 cot 22

(8) O
0y 3

(A) 1
(C) 4

74.

[T

76.

78.

Two chords of length 12 cm and
16 cm respectively are drawn on
aithar side of the centra of a cirche with
radius 10 cm. If these chords are
parallel to each other, find the
perpendicular distance between
these two chords.

(A) 2em
(C) 14cm

(B] 12em
(D) 10em

PA and PB are the two tangents.
drawn from an external point P to a
circle with centre O. If AB = PA, find

|ACB =2

(A) 120°
(©) 130°

(B) 110°
(D) 100"
Findthe modeof 7,9.8,7, 7,6, 8,
10,7.

{Aa) &
(C) 8

B 7
(D) 8

From a solid cylinder of height 36
and radius 14 cm, a conical cavity
radius 7 em and height 24 cm is
drilled out. Find the volume of the
ramaining solid.

(A) 10844cm®  (B) 2194 cmd
(C) 30944¢m® (D) 20994 cm®
PG,y =120, find n. )

(A) B (B) 9

(C) 10 (D) B

-
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73.

6 4 2
575 5 I HRE (i)
FEH |

B 2
A = B 5

2 4
(C) 5 (D) 15

UF 100 59 A9 T 1 A g
BO.5 %, B | i 0.5% B | s )

T 15% B | afs =18 =uf wm o o
36,000 %, %1 Faw ¥4 &, & 39 39

N TeRereT =T 9T B
(A) 605 (B) 600%7
(C) 5,000%7 (D} 8,000%F

5,000 %. & fero 10% w2 997 & fom
TFRE =T S e s F e
F 35 Fm 7

(A} 1057
(C) 50%T
HTEATT 5% T 145 #4Ta &0 3 | i
ot Tifi 9,261 w0 et

(A) B,000FH (B) 8,500
(C) 820078 (0) 7.500%%

(B) 20%H
(D) 1005

Frronferetta mfermait s amm B e
Frerfertian =1 g =7 |

AL, i P PP s
cosec 73 col 22

1A) 1
(C) 4

(8] 0
(D) 3

74,

75

bl

JDD-57/HC/ T-IVX-15

HHIL: 12 Ft 37 16 w0 ward et 2
10Tl e ma g w9z
& a1 S et R | af 3 s
L WO €, A 8 s & g
wTaaa it &1 =1 ga wm |

(A) 28 (B) 127
(C) 14 (D) 10HH!

PA it PB = erefoam § e et fiz
P # %z O 41 3 % i) T d | 1

AB=PAR, @1 [AOB = 7 7/ %1 |
(A) 120fed (B) 110 &k
(C) 130T (D) 100 faf

7.9.8,7, 7,6, 8,10, 79 9% 71
i |

{A) 6 B) 7
(C) 8 (D) 9
36 Feft = a4 & s a2

Tacter s, 74 fiea ot 24 ddt 3
=1 U I T A T A e

Toetet ® e 70 |

(A) 10844ddi®  (B) 2194 T2
(C) 30844%413 (D) 20994 T
ARG, = 1202 A ngwE | ‘
(A) B (B) 9

(C) 10 D) &
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79,

81

83,

Ax

How many diagonals can be drawn
in a polygon with 9 sides 7

(A) 27 (B} 28
(C) 26 (D) 25

Find each inferior angle of a regular
octagon.

(A) 100° (C) 45°
{C) 120° (D) 135°
5% +6y :Bx+5y=8:9 findx:y
(A) 10:13 (B) 14:19
(C) 12:17 (D) 13:15

Find the sum of the first 25 odd
numbers.

(A) 125 (B) 225
(C) 400 (D) 625

A sum of money is invastad al
compound interest payable annually.
The amounts of interest in two
SuUCcaessive years are # 225 and

F 240, Find the rate of interast.
(A) 6%

|

1

(B) 55%

Z
(C) B5%

(D) Datais madequale

The arithmetic mean and harmonic
mean betwasen two numbers are

1
144 and —
a

geometric mean between those two
numbers.
(A) 4 (8) 5

{(C) 8 Dy 7

respectively. Find the

85

BE.

87.

BA.

89.

One of the boy weighing 50 kg leaves

the class and another boy joins
increéasing the average weight of the

1
class by 0 kg - What is the wesght

of the new boy 7

{A) 45Kkg (B} 50kg
(C) 55kg (D) 60kg

I

3 of| =——|

= el s g

: : ==

1 [ 30}

gl S8

195" 2)

A 3 B ;
(A) 15 () iz

1 ]

() a (L) 1

A merchant marks hisware 40% more
than the cost price and allows 20%
discount. What is his profit 7

(A} 18% (B) ' 20%
(C) 16% D) 12%
The ratio of the diameter of two silvar

discs I1s 4 : 9. Find the ratio of theilr
area.

(A) 2:3

{8) 16:81

(C) 9:4

(D) data nadequate

Numbers which lie betwean 1000
and 5000 and are divisible by 225 are
(A) 18 (B) 17

{C) 18 (D) 19

L
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| A OO T S0 AT A

79, QW dTe) U AgeE A e
T o T B 7
(A) 27 (B) 28
(C) 26 (D) 25

80, Uk Fafiger smesrim 3 weltd i
FRHI0T 3 T S |
(A} 100° (C) 45°
(Cy 120° (D) 135°

A1, ufd5x4+ By Bx+Sy=8:9% 7 x'y

AT i |

(A) 10:13 (B) 14:19
(Cy 12:17 (D) 13:15
weed] 25 faum gEa HT T =4 |
(A} 125 (B) 225
(C) 400 (D) 625
fpeft ol =5 vl Zm R e
fordtm o mn # | Fam & =l o =
205%, 3 240 %, & | = S IEF |
g
(A) E-ﬂ-%
1
(B) E‘-;m
2
(C) EE%
(D) &2 ST 7
ﬁ‘rmﬁ%aﬂﬂﬂﬂmﬁ?ﬁ?m
aﬂtmmmnmméﬁlﬁ
WS & e o A e i
(A) 4 8) 5
(C) & D) 7

85.

BE.

8/.

88,

8s.

JDD-57/HC/ T-WX-15

50 fhell & 599 &1 UF oom T4 818

ST T O AEET RN § S B
aran B, Forma wen = 3l 29 %
e dam s e |
(A) 45 R (B} 50 =
(C) 55k (D) 60T
3 1)wd
[5' EJH *3 5
THEIT A
1572/ %

1 e
T & 33

1 1
o T

TF ST ST WAl o S e
40°% T Tiha FIE B 81 20% #l
WEANE AR 7

(A) 18% (B) 20%

(C) 16% (D) 12%

) AT e o o ST A 97 |
ik &S T AT 6

(A) 2:3

(B) 16:81

(C) 9:4

(D) 21 waE 8

famsdt WAt 1000 31 5000 % F= |
fererma 2 w1 225 & = 2 |

{A) 18 B) 17

() 18 (D) 18
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80.

9

8z.

83.

95,

A crew can row 12 km course in shill
water in 60 minutes and in 48 minutes
alang with the wind. How lang will the
craw take to row against the wind the
saMme course ?

(A} 7O min.
(C) BOmin.

(B} 75 min.
(D) 85 min.

100 kg of ration is sufficient for
18 students for 15 days. Find for how
many students will 70 kg of ration be
sufficient for 25 days.

(A) 7 (B) 8
(c) @ (D) 11
fA:B=8:9andB:C=15:16,findA:C.
(A) B:5 (B) 5:8

(C) 9:15 (D) 8:15

1 ' |
St ' 8
Ihn:+x 5, % +.'n:" 7

(A) 27
{B) 25
(C) 23
(D) ecannolbe lound

,ln-u—h xhtld x'._na. .
|,—r %=, e

(A) © (B) xab

(C) e (0) 1

Find the greatest number which when
divides 580, 908 and 1014 leaves the
same remainder each time.

(A) 98 (B) 98
(C) 100 (D) 106

96

a7

98.

100.

€) 22 -

Four bells are ringing at intervals of
12,16, 24 and 36 minutes. Thay star
ringing simultaneously at 12 O'clock.
Find when will they again ring

together ?

(A) 1.10P.M, (B) 2.24 P.M.
(G) 214 F.M. (D) 1.24P.M,
The area of a circle is 154 cm?. Find
ils panmater.

(A) 36cm (B) 42cm

(C) 44 cm (D) 28 cm

The sum of the first ‘0’ natural numbers
is 210, Find 'n’
{AJ__ 20 {E,_l 21

(o) 10

MNavean, starting from A walks 1 %m,
to the North and from there 3 km to
the West and from there 3 km lo the
Morth and reaches B. Find the
shortest distance from AtoB.

(A) 4 km

(B] &5km

(G} 5.5km

(D) cannot be determined

The present age Jaya and Jagan are
in the ratio 8 : 7. Three years back
their agas werne in the ratio 7 6. Three
vears from now what ratio will they
have in their ages 7

(&) 8:86

(B) 8:9 ‘
(C) 9:8
(D) cannot be determined
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101,

102.

103,

104.

105.

PART -l

Dethi C.M. Arvind Kejrival lakes to
streels demanding conlrol over
police, rasigns on Feb. 14, 2014 over
Delhi Jan. Lok Pal Bill after

days in office.
(A) 45 days (B) 42 days
(C) 47 days (D) 49 days

Keirival's A.A. Party fought Delhi
Legislative Assembly elections with
the symbol _

(A) Umbraelia (B} Lantem
{C) Broom (O} Elephant
Whao is the Lt Govemor ol NCT Dalhi 7

(&) MNaseer Ahmad (B) Nadir Jung
(C) Nazrat Umang (D) Majeeb Jung

in which schedule of Constitution of
India, names of the Union Territories
ane listed 7

(A) First schedule
(B) Third schedule
(C) Seventh schedule
(D) Fifth schedule

Which are the naighbouring states
of Delhi 7

(A} Punjab, Haryana,
(B} Haryana, Himachal Pradesh
(C) Haryana, Uttarakhand

(D) Haryana, Uttara Pradesh

106. Whal type of legisiature Deihi has 7
(&) Unicameral

(B) Bicamaral

(C) Both Unicameral and Bicameral
(D) Neither Unicameral nor Bicameral

Mame the major river which flows in
Delhi 7

(A) Brahmaputra

107.

(B Damodar

(C)} Yamuna (D) Allthese three

How many seats Delhi Assambly
has ?

{A) 65
(C) 75

108,

(B) 70
tm B ——..

Who Commissioned Iron Pillar near
Qutub Minar dunng the rule by
Gupia Dynasty (320-540) ?

109.

{A) Samudra Gupia
-{B) Chandra Gupta
(C) Kumara Guptal
(D) All these

New Delhi was built by the British on
the South-West of Daelhi and declared

110

capital on i
(A) 12-12-1911 (By 12-12-1921
(C) 12-12-1801 (D) 12-12-18931
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Teeelt o fm werm 57 Brniea 8 9
(A) wHEE]

(B) fomh

(C) EHl et i e

(D) A ¥ vebma v e

ferell 4 aeae sm Af wamEn g 7
(A) wF (B) &
(C) T (D) 90 i

feeeht P d et 138 7
(A) 65 (B} 70
(C) 75 D) &

1 391 (320-540) % 16 % 20 Faa
iR & T9dE #ie g9y W fan =
arfaFi g 7

(A) HERTA (B) ¥ TA
(C) W | (D) Forer @+t
5 fareft 1 afr—frem foefi o fafen
2 fAie ey sin

o W o TR e
(A) 12-12-1911

(B) 12-12-1921

(C) 12-12-1901
(D) 12-12-1931
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111. Delhi was redefined as

(A} MNational Central Territory
(B} Mational Capital Territory
(C) Matural Capital Terntory

(D) Meutral Central Territory

112, How many Nationalised Banks are

there in India ?
(A) 19
(C) 20

(B) 21
(D} 18

113. As declared, how many Distncts are

there in NCT Delhi 7
(&) 10 (B) 11
{C) @ (D) B

114. Which of the following is the

prominent Air Port of NCT Delhi 7

(A) Mahatma Gandhi Internatianal
Alrport

(B) Sanjay Gandhi International Airport
(C} Raijiv Gandhi International Airport
(D) Indira Gandhi International Airport

115, What is the area of NCT Delhi 7
{A) 1488 s0.km (B} 1583 sq.km

(C) 1383sqkm (D) 1683 sq.km

Delhi has the sex-ratio
(A) BS6 (BY 876
iC) BBE (D) BBB

116.

117.

118

18

120.

121.

Which of the following Is nat a
prominent industry of NCT Dedta 7

(A) Electronics

(B) Bicycles

(C} Footwears (leather goods)
{0) Railway wagons and coaches

India was officially cerified
on March 27, 2014 by the WHO.

(A) AIDS free (B} Malaria free
(C) T.B free (D} Poliofree

The Narendra Medi government on
January 1, 2015 replaced the 65 year
oid planning commission with a new
boady callad NITI Aayog. NITI stands for

{A) National Institute for Transforming
ll!"ldlzi' _

National Institute for
Transformation of India

National Institution for
Transiorming India

National Institution for
Transformation of India

(B)
(©)
(D)

Cyclone leaves a trail of
dastruction in lhe port cily of
Visakhapatnam on Oct. 12, 2014,

(A) Gudbud (B} Hudhud
(G} Hudbud (D) Gudhud
Aneight-imeBJPMP, _______ was

elected as the Speaker of 16™ Lok
Sabha on June 6, 2014.

(A} Sunestha Mahajan

(B) Supreeta Mahajan .
(€) Sunanda Mahajan

(D) Sumitra Mahajan
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115
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(D) 8

114; Ffafes § 3 w9 v el =

peee e eicd B

(A} e i} S v
(B) Fd TV ST T
(C) TriTE T e
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115
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(C) 866 (D) 886

117
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118.

120.

121,
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122,

123.

124.

125.

126.

Which Russian Noble laureals coined
the term “Conditioned Reflex” 7

(A} John McAdam

(B} Sandro Botticelli

(C) Paviov

(D) Valdmir Putin

From the top of which mountain did

Hanuman leap across the ocean 1o
Lanka ?

(A) Mount Abu

(B} Mounl Mahendra

({C) Mount Kailas

(D) Mount Shailesh

Al which historical site, near Delhi,

were the Indian Sepoys defeated on
June 8, 1857 7

(A) Badii ki Saran
{C) Alambagh

(B] Allahabad
(D) Khas Bazaar
Along with Atal Bihari Vajpayee. who
has besn awarded Bharal Ratna 7

(A) Vallabhbhai Patal

{B) Subhaschandra Bhose

(C) Lata Mangeshkar

(D) PL Madan Mohan Malaviya

Whe headed the 14' Finance
Commission which submitted its

report to the President of india on
December 15, 2014 7

(B) Subba Rao
(D) ¥Y.V. Reddy

(A} HRanga Rajan
(C) AM.Jha

127.

128,

129,

130.

131.

0

Who created a new world record in
ODls, Slamming 264 runs in tha lourth
One-Day-International al Eden
Gardens, Kolkata on November 13,
2014 7

(A) Virendra Sehwag

(B) Mahendra Singh Dhoni

(C) Rohit Sharma

(D) M. Agarwal

Who has been appeinted as the

Vica-Chairman of the newly formed
NITI Ayog 7

(A) Mr. Vivek Hallegera Murthy
{B) Mr. Arvind Panagariya
{C}. Mr. Nithin Gadkari

D) Mr. Bibek Debroy

tall monolith statue of Lor
Bahubali was erecled atop the
Bahubali Betta at Karkala in the year
1432,

(A) 42 feel
(C) 45feat

(B} 40 feet

(D) 38feet
V.A. Krishna Ayer, who passed away
on December 4, 2014 was afan

(&) Bollywood Actor

(B) Sitar Player

(C} Fommer Vice President of india
(D) Eminent Jurist

The first hour of each sitling of the
Parliamant is called

(A) Bill Presentation hour
(B) Zeroc hour s
{C)] Question hour

(D) Opposition hour
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132, Who was honoured with the Yash
Chopra Memorial Award on
December 23, 2014 7

(A) Lata Mangeshkar
(B) Salman Khan
(C) Amir Khan
(D} Amitab Bachchan
133. Who is the present Chairman of the

Indian Space Research Organisation
{(ISR0O) 7

(A} K. Balakrishnan
(B) K. Radhakrishnan
{C) K. Mudduknshnan
() Postis vacanl

134, Which SAARC Surnmit meet was held
in Nepal on November 27, 2014 7
(A) 18™M (8) 1g9th

(Gy 18" (O) 20"

135. In the 84" edition of the Miss Warld
pageant held at London on Dec. 14,
2014, Ms. Rolene Slrauss was
crowned Miss World 2014, Which
country she comes from 7
(A) Philippines
(B) LLK.

(C) Yugosiovia
(D) South Alrica

136.

137.

138.

138

1440.

141.

Sun temple is located in
(A) Bhopal (B} Madhurai

(C) Tiruchirapalli (D) Konark

Okha port is located in
(A) Goa (B) Karmnataka

{C) Baroda (D) Tanjore

Boiling point of water is
(A} 1007 (B} BO"C

(C) 1000° C (D) 78.4°C

Name the instrument for determining
the amount of moistura in the air.

(A) Spectrometer

(B) Hydrophone

(C) Telescope

(D) Hygrometer

What is ‘Mirage™ 7

(A) It shows veriical lines onty

(B)  Itis lengsightedness

{C) Wis shorisighiedness

(D) Itis an optical llusion

What i= the space between two lines
of Broad Gauge 7
(A) 2.323metres (B) 2.000met

{C) 1.50 metras

(D) 1.676 met
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142.

143,

144.

145,

1486,

What is the difference betwean
Indian Standard Time and Greanwich
Mean Tima 7

(A} 3hours
(C) 5.30 hours

(B} 4 hours
(D} 6 hours
When was All India Radio given the
name of "Akashavani’ 7

(A) 1852 (B) 1247

(C) 1970 () 1957

How many spokes are found in the
“Chakra” of the Indian National Flag 7
(A) 36 spokes

(B) 24 spokes

{C) 20 spokes

(D) 30 spokes

Give the year of crucifixion of Jesus
Christ 7

{A) 1AD,

(B) 33A.D.

(G} 101 AD.

(0} 133 AD.

Who built the Red-Fort in Dalhi 7
{A) Noor Jahan

(B) Shah Jahan

(C) Akbar

(D) Jahangir

147.

148,

149,

150,

The author of the book "Adventures
of Sherock Holmes" is

{A} Arthur Cohan Doyle

(B) Charles Dickens

(C) Sherlock Holmes

(D) Oliver Goldsmith

The place on the sarth where the
length of the day and the length of the

night remain equal throughout the
year is at the

(A) Tropic of Cancer
(B) Enuator

(G) Poles

(D) Tropic of Capncom

East India company was established in
(A} 1605 A.D.
(B) 1857 A.D,
(C) 1600A.D.
(D) 1575 AD.

Photosynthesis is the primary
function of

(A) Leaf
(B) Fruit
(C) Root
(D) Stem
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150,

JDD-57/HC/ T-IVX-15
FaT :
(A) LA 2fae
(B) =7=H fadg
(C) Irer®Erd
(D) TR iy

yeft a Y e el iR Fread i o
ol e O U HEE T 8, &t

() e TET T B
(B) e TE T d
(C) wETR

(D) FeR R

$2 gTam ) o) v e A e 7
(A) 1605 &

(B) 18578l

(C) 1600%H!

(D) 1575 %]

ST ST R A B 7

(A) T

(B) el

(C) =%

(D) 3=




JDD-57HC/ T-WX-15

Directions (Qs. 151 to 157) : Fill in the
blank with the appropriate alternative.

151. Either you or he

mistaken.
(A) Is
(B) are
(C) has
(D) of

152. Slow and sieady
(A) win
(B} wins
(C)

(D) is

was

153. | bought this book

hundred rupees.
(A) to

(B) by

(C} with

(D) for

154. He confirmed my appointment

. ___the talephons,
(A} by

(B} over

(C} on

D) al

PART -1V

the race.

twio

155.

156.

157,

The owner of these buildings
(A) are

(B) is

(C) to

(D) have been

A brave man does not boast
his great acts.

(&) for
(B} off
(C) with
©) of

| have made
continue my sludies,

(A) with
(B) of
(C) owver
(D) up

my mind to

Directions (Os. 158 to 162) : Choose the
most appropriate word (alternative) which
can substitute the given expression.

158.

One who eats human flash
{A) Cannibal

(B) Vegatarian

(C) Humanibal

(D) Al these




158,

160.

161.

162.

A doctor who is specialist in the
disease of children

(A} Christrian
(B) Charlton
(C) Paediatrician
(D) All these

Allowance granted to a lady on
legal saparation from her husband

{A) House allowance
(B) Care taking money
(C) Matrimonical allowance

(D} Alimony

A person who beliaves that there is
no God

(A) Fanatic

(©) Priest

(C) Iclolator

(D) Atheist

A person who looks to the bright side
of things

(A) Rightist

(B) Lefiist

(C) Pessimist

(D} Optimist

JOD-57/HC/ T-IWX-15

Directions (Qs. 163 to 167) : Against each
keyword are given four suggested
meanings, Choose the word or phrase which
is mosi nearly the same 1o the key word.

163. Acquitted
(A) Sentenced
(B) Acquired
(C) Summoned
(D) Freed

164. Jeopardy
(A) Security
(B) Danger
(C) Pacific

(D) Jealous

165. Diligent
(A) Progressive
(B) Inventive
(C) Hardworking
(D) Simple

166. Fragile
(&) Delicate
(B) Modest
(C) Cheap
(DY Unreliable
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167. Ignominy
(A) Daleat
(B) Victory
{C) Dishonour

(D} Misery

Directions (Qs. 168 to 172) : Against each
key word are given four suggested meanings.
Choose the word or phrase which is opposite
in meaning of the kay word.

168. Perverse
(A} Wicked
(B) Agreeable
{C) Disobedient
{0} Petulant

169. Peevish
(A) Amiable
(B) Snappish
(C) Unpleasant
(D) Patulant

170. Defauit
|A) Lapse
(B) Forfeit
(C) Defect

(D) Appearance

171. Offensive
(A) Transgression
(B) Misdeed
(C) Defensive
(D) Aggressive

172, Adversity

(A) Mistortune

(B} Prospenty

(C) Distrass

(D) Misary
Directions (Qs. 173 to 177) : In these
questions, every sentence is divided into four
groups of words. These groups are marked

as (A), (B}, (C) and (D). Findout which group
of words contain error.

173. Four years (AYhave passed (B)/since
my grandfather (C)/has died (D)

174, The only facility (A)that can be (BY
provide to {C)in this (D)

175. Haju is (A)much more (B)/senior
than (Cl/me (D)

176. He fixed a metal ladder (A)/for tha wall
below his window (BY/so as to be able
to (C)escape if there was a fire (D)

177. | offered him part-time work (A)but he
turned it over/ (B) saying that he would
(C)/rather walt for a full-time job (D)
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Directions (178 to 182} : Read the passage
given below and answer these guestions
based on the passage.

It iz said thal once three old mensetout on a
joumney together. One of them was bald, the
second was a philosopher and the third was
a barber. At night fall they decided that each
one of them should sit for watch turn by tum.
The barber was to keep watch first of all, the
philosopher after that and the baldman las!
of all. So, the philesapher and the baldman
wenl to sleep and the barber was on waich.
For sometime he kept awake but in the end,
he felt tired of it and he thought of some
diversion as otharwise it was difficult for him
to pass time. Then he lookout the razor from
his box and shaved the head of the
philosopher. At the fixed time he woke up
the philosopher and himself wenl to sleep.
When the philosopher got up and felt his
head all over, he was stariled and said in
surprise, “It was my tum but this wretchad
fellow has awakened baldman.”

178, Why did the philosopher get up 7

(A} He realised thal his head was
being shaved oft

It was his turn to keep wateh
He was awakened by the barber
He had a bad dream

(B)
(C)
(D)

179. Why did the barber shave off the head

of the philosopher 7
(A) He was jealous of him

(B} Ha wanted the philosophar to keep
watch

(C} He was fesaling drowsy
(0} Hawanted some amusement

180.

181.

182

183,
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Who went to sleep first of all ?

(A) The barber and the baldman

(B) Philosopher, barber and baldman
(C) The baldman and the philosopher
(D) Barber, philosopher and baldman

Which of the following is the correct
sequance decided upon by the three
to keep watch turn by tum 7

(A) Barber, baldman and philosopher
(B) Philosophaer, barber and baldman
(C) Baldman, philoscpher and barber
(D) - Barber, philosophar and baldman

Which of the following statements is
not true in the contesd of the passage 7

(A) All the three man decided 1o keep
watch one by one

(B) The barber woke up the baldman

(C) The head of the philosopher was
shaved off i

(D) The philosopher was startled on |I
fealing s head all over

Superlative form of little is
(A) Less

(B) Lesser

(C) Least

(D) Allthe three
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184. Past participle of the verb “slay” is
(A) Slayed
(B) Slaid
(C) Slew
(D) Slain

185. They had laughed

The tense of the verb in the above

senlence is

(A) Past

(B) Perect

(C) Continuous

(D) Paslperfect
Directions : (Qs. 186 to 190) : Rearrange the
following six sentences (A), (B). (C), (D), (E)
and (F) in the proper sequence to form a

meaningful paragraph, then answer the
questions given below them.

{A) With all this experimentation he
incurred an expanditure of over a million
dollars before success smiled on him

(B) Edison invenled the long lasting
electric light bulb

{C) To find a fibre to bum inside a bulb ha
experimented with over two thousand
iterms

(D) We thus owe the miracle of light as
much to his perseverance as to his
genious

(E) However he did not invent it overnight

(F) His friends too travelled all over the
world from South America t©o India in
search of a suitable fibre

A

186. Which of the following should be the
FIRST sentence after rearrangament 7

(A) A
(B) B
cy C
(D) D

187. Which of the lollowing should be the

SECOND sentence after
rearrangameant 7

(A) B

B) C

€y D

() E

188.  Which of the following should be the
THIRD sentence after rearrangement 7
(A) A
(B} B
(€} C

Dy D

189. Which of the following ghould be the

FOURTH sentence after
rearrangement 7

(A) B

(B) C

(C} D

@) F




180. Which of the following should be the
SIXTH (LAST) sentence after
rearrangameant 7

(A) B
(B) C
(C) D
(D) E
Directions : (Qs. 191 to 195) : The error, if any,

will ba in one part (A), (B), {(T), (D) of the
sanience. The numberof that pan in the answer.

181. Senior citizens prefer (A)/ banks
which (B} branches are located (C)/
near their homes (D)

182, We shall be caliing a meeting (A)next
weel o assess (BY the causes of
frequently (C)/ delays in infrastructure
prajects (D)

183, One of the important lesson (A)he
taught me was to save (B)/at least
thirly percent (C)f of my gross
Income (D)

184.  Most of the tribals (A)/in the region (B)/

are dependad on the forest (C)loeam
their livelihoods (D)

195. Inorder for (A)the scheme to be (B)/
successful we require as (C)/much as

twenty investars (D)
196. Plural of 'Phenomenon’ is
(A) Phanomenons
(B} Phenomena
(C) Phenomenas
(D) Phenomenans

197,

188.

188,

200.
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Feminine gender of ‘horse’ is
(A) Horsen

(B) Horses

(C) Mare

(D} Horse

The pleader argued intelligently

MName the part of speech of the
underlined word in the above
santence.

(A) Adjective
(B) Moun
(C) Verb
(D) Adverb

What kind of noun is ‘FAMILY" 7

{(A) Common noun

(B} Collective noun

{C) Proper noun

(D) Materal noun

“Who is he 7" What kind of sentence
is this ?

(A} Imparative sentence

(B) Exclamatory sentenca

(C) Interrogative sentence

(D} Assartive senlence
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IMPORTANT INSTRUCTIONS TO CANDIDATES
Fuftaaml & o aeeget s

11.
12

13.

14

15,

16.

17.

18.

This booklet contains 48 pages

Please check all the pages of the Booklet
caretully. In case of any defect, plaase ask
the Invigdator for replacemant of the Booklal

Directions : Each question or Incomplels
siatemenl s followed by four altemativa
siuggested answers or completions. In each
case, you are required 1o select the one that
correctly answers the question or completes
the slaiemant and blacken (@ appropriale
circls A, B, C or Dby Blue/Black Ball-Point Pan
agains! the gueslion concerned in the
Answear-Sheel. (For V.H. candidates
corresponding circle will be blackenad
by the scriba)

Mark your anawer by shading the appropriate

circle against each question. The circle should
be shaded complataly without leaving any space.

The cormect method of shading is given balow.
Whung Wit [| ey Metrod -.-.mm"umw|
|’J-EH::ID__;D'F_5_E'J_L'3 (ol Jeje] (=] Jeje

The Candidate must mark hiather response
aflter careful consideration,

There is only one comect answsr to each
guestion. You should blacken (@) the circle
of the appropriate column, viz., A, B, C or D.
If you blacken (@) more than one circle
ageinst any one question, the answear will be
trealed as wrong. I you wish to cancel any
answer, you should complelely erasa that biack
rmark in the circle in the Answer-Sheet and then
béacken the circle of revised response

A maching will read the coded Information
in the OMR Answer-Sheet, In case the
information ls incompieta/ditferent from the
information given in the application form, the
canthdature of such candidale will be treated
as cancelied.

Use the space for rough work given In the
Question Booklet only and not on the
Answer-Sheal.

You are NOT required to mark your answers
in this Booklet, All answers must be
indicated In the Answer-Sheet only.
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Go through instructions given in Page No. 1 (Facing Page)






